
1

2

3

4

5

6

7

0-1111110
1-0011000
2-0110111
3-0111101
4-1011001
5-1101101
6-1101111
7-0111000
8-1111111
9-1111101
A-1111011
B-1001111
C-1100110
D-0011111
E-1100111
F-1100011

01
1111 1100 0110 00
57
1101 1010 1110 00

1111 1100 0110 00
1101 1010 1110 00

1111 1100 0110 00
1101 1110 0110 00
1101 1010 1110 00

void print_ar_hex(int* ar, int n)
{
    for(int i=0;i<n;i++)
    {
        cout<<hex<<ar[i]<<" ";
    }
    cout<<endl;
}

int proverka(int* ar_orig, int* end_ar, int n, int m)
{
    int ar_size=0,end_ar_size=0;
    for(int i=0;i<n;i++)
    {
        if(ar_orig[i]==1)
        {
            ar_size++;
        }
        if(end_ar[i]==1)
        {
            end_ar_size++;
        }
    }
    if(ar_size==end_ar_size)
    {
        int* ar=new int[n];
        int counter=0;
        for(int i=0;i<n;i++)
        {
            ar[i]=ar_orig[i];
        }
        for(int k=0;k<m;k++)
        {
            for(int i=0;i<n;i++)
            {
                if(ar[i]!=end_ar[i] && end_ar[i]==0)
                {
                    ar[i]=0;
                    for(int u=0;u<n;u++)
                    {
                        if(ar[u]!=end_ar[u] && end_ar[u]==1)
                        {
                            ar[u]=1;
                            counter++;
                            break;
                        }
                    }
                    break;
                }
            }
        }
        if(counter==m)
        {
            for(int i=0;i<n;i++)
            {
                if(ar[i]!=end_ar[i])
                {
                    return 0;
                }
            }
            return 1;
        }
        return 0;
    }
    return 0;
}

void sticks()
{
    int bank[16][7]={
    {1,1,1,1,1,1,0},
    {0,0,1,1,0,0,0},
    {0,1,1,0,1,1,1},
    {0,1,1,1,1,0,1},
    {1,0,1,1,0,0,1},
    {1,1,0,1,1,0,1},
    {1,1,0,1,1,1,1},
    {0,1,1,1,0,0,0},
    {1,1,1,1,1,1,1},
    {1,1,1,1,1,0,1},
    {1,1,1,1,0,1,1},
    {1,0,0,1,1,1,1},
    {1,1,0,0,1,1,0},
    {0,0,1,1,1,1,1},
    {1,1,0,0,1,1,1},
    {1,1,0,0,0,1,1}
    };
    int bank_size[16]={0,0,0,0, 0,0,0,0, 0,0,0,0, 0,0,0,0};
    /*for(int k=0;k<16;k++)
    {
        for(int j=0;j<7;j++)
        {
            if(bank[k][j]==1)
            {
                bank_size[k]++;
            }
        }
    }*/
    int num,size_of_num=0,M;
    cin>>hex>>num;
    //cin>>hex;
    cin>>M;
    //num=0xd24;
    //M=3;
    //cout<<hex<<num<<endl;
    //cout<<M<<endl;
    int temp_num=num;
    while(num>0)
    {

        num/=16;
        size_of_num++;
    }
    int* current_num=new int[size_of_num];
    int* end_num=new int[size_of_num];
    int* current_num_bin=new int[size_of_num*7];
    int* end_num_bin=new int[size_of_num*7];
    int i=size_of_num-1;
    while(temp_num>0)
    {
        current_num[i]=temp_num%16;
        end_num[i]=15;
        for(int u=0;u<7;u++)
        {

            current_num_bin[i*7+u]=bank[current_num[i]][u];
            end_num_bin[i*7+u]=bank[end_num[i]][u];
        }
        temp_num/=16;
        i--;
    }

    //print_ar(current_num,size_of_num);
    //print_ar(end_num,size_of_num);

    //print_ar(current_num_bin,size_of_num*7);
    //print_ar(end_num_bin,size_of_num*7);

    print_ar_hex(end_num,size_of_num);
    cout<<"-----"<<endl;
    int k=size_of_num-1, flag_result;
    flag_result=proverka(current_num_bin,end_num_bin,(size_of_num)*7,M);
    if(flag_result==0)
    {
        while(k>=0)
        {
            if(end_num[k]!=0)
            {
                end_num[k]--;
                for(int u=0;u<7;u++)
                {
                    end_num_bin[k*7+u]=bank[end_num[k]][u];
                }
                if(k<size_of_num-1)
                {
                    for(int i=k+1;i<size_of_num;i++)
                    {
                        if(end_num[i]==0)
                        {
                            end_num[i]=15;
                            for(int u=0;u<7;u++)
                            {
                                end_num_bin[i*7+u]=bank[15][u];
                            }
                        }
                    }
                    k=size_of_num-1;
                }
                flag_result=proverka(current_num_bin,end_num_bin,(size_of_num)*7,M);
                //print_ar(end_num,size_of_num);
                //print_ar(end_num_bin,size_of_num*7);
            }
            else
            {
                k--;
            }
            if(flag_result==1)
            {
                print_ar_hex(end_num,size_of_num);
                cout<<"finish"<<endl;
                break;
            }
        }
    }
    else
    {
        print_ar_hex(end_num,size_of_num);
        cout<<"easy finish"<<endl;
    }

}


